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Choose the Question
Can you answer the question using the information given?

Emma has 4 beads. Her mom gives her 6
more.

How many does her mom have left?

Yes No
| can answer | can’t answer
this question. this question.

Lucy has a bouquet of 17 flowers made
up of 4 roses, 7 daisies and tulips.

What color are the roses?

Yes No
| can answer | can’t answer
this question, this question,

Sophie spends $5 on candy. That's $2
more than last time.

How much did she spend last time?

Yes No
| can answer | can’t answer
this question. this question.
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Sophie planted 8 cherry trees, 3 pear
trees and 6 apple trees.

How many trees did she plant total?

Yes No
| can answer | can’t answer
this question. this question.

Lucy has a bouquet of 17 flowers made
up of 4 roses, 7 daisies and tulips.

How many tulips does she have?

Yes No
| can answer | can't answer
this question, this question,

Claire is 17 years old and she is 150cm
tall. That’s 7cm less than Alex, who is 16
years old.

How tall was Alex when he was 15?

Yes No
| can answer | can’t answer
this question. this question.



